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1 In a testcross involving F; dihybrid flies, more

parental-type offspring were produced than the
recombinant-type offspring. This indicates :

(1)  Both of the characters are controlled by more
than one gene. b

(2)  The two genes are located on two different
chromosomes.

(3) Chromosomes failed to separate during

meiosis.
The two genes are linked and present on the
same chromosome.

@

£

4.

5.

Water soluble pigments found in plant cell vacuh\
are: = 7 M

Anthocyanins
() Xanthophyllsi’.. / \A\W
(3)  Chlorophylls
(4)  Carotenoids

i_;*%\o\,\,

Which of the following pairs of hormones are not

antagonistic (having opposite effects) fo eac
other? CGA)\,\':
xﬂ :

(1) Inhibin
Parathormone - Calcitonin
(3)  Insulin - Glucagon v~
(4)  Aldosterone Atrial Natriuretic Factor

Mitochondria and chloroplast are :

(a)  semi-autonomous organelles.

(b)  formed by division of pre - existing organelles

and they contain DNA but lack protein
synthesizing machinery.

Which one of the following options is correct ?
(1)  Both(a)and (b) are false.
(2)  Both(a)and (b)are correct.
(3)  (b)istruebut (a)is false.
(a)is true but (b) is false.

Which of the following is not a feature of the
plasmids ?

Single - stranded ¢
(2)  Independent replication*
(3)  Circular structure’\~
(4)  Transferable

3.
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6. A plant in your garden avoids photorespiratory | 6,  379% & H UF WY T G H 2 Al @i 4
s s improved wae v efcenyshows | * gy , e s o 2w e 8, 7 5
and has improved efficiency of nitrogen utilisation, \ Y T WA i 37 R B & s 3R
In_which of the following physiological grou ) ITEM H BT I B I T 9EY @i
weanald yoo sdsin Srimplant | Y & 9 o o i T A v
(1) _Nitrogenfixer % M l‘/\l ) I — ‘
C P g
(
®) C,
) / (4)  CAM
Emerson’s enhanceément effect an¥ | Reddrophave % L !_ﬂ T T iR e R (e gm) fre
been instrumental in the discovery of : EEH TEIARE?
(1)  Oxidative phosphorylation () e weRfEeE
(2) Photophosphorylation and non-cyclic (2) YENTERRIETA 3R ST ez SAiam
electron transport () W A H U W FwH H
(3)  Two photosystems operating simultaneously @) TEETEREE 3l T e s
(4) Photophosphorylaﬁﬂ and cyclic electron )
transport 8. HA-1 Haeh 101 feafa | wE-waE i Fm §?
8. Which type of tissue correctly matches with its
location ? (1)  HARR 39kl FHEE AR
Tissue Location @ ot et st fufa
Cuboidal epithelium Lining of stomach @) U saw SSU
(2)  Smooth muscle Wall of intestine @  fiEdt Igwen Bliseap]
@), Areolartissue Tendons 9, wifafies Hiea F1 S F g0 fF wufe A
Transitional epithelium  Tip of nose X qrz Y= ¥ oa w4 A 7 wifefeE Hed
When dogs the growth rate of a population followin, Frfafaa weem | gafmn e -
mﬁ&.%ﬁéﬂﬂ!ﬂﬂw The logistic model dN/dt = rN(1-N/K)
given as t = IN(1-N/K): ) (1) 9 S=Ie it 3TUE goet A A
.jg/dﬁen death rate is greater than birth ratg, () & N/K aﬁa;'qa;a |
: F
when N /K is exactly one. 3 W& N JHER T I sar o e e
(3) hwt;)e; tN nears the carrying capacity of the @ & N/K I F T
abitat.
(4)  whenN/K equals zero. 10. FEfAfEA i I I T FE TA T E?
1) 2fad AEgeE J voehE W, e g
10.  Which one of the following statements i m @ i
——— A § wgE Rl o awd #
(1) Stored pollen in liquid nitrogen caibeused i
in the crop breeding programmes | _~~ @ m‘% T | e werd F ¢
\/ Tapetum heips in the dehiscence of anther (3) TR i A SR S 6
(3) Exine of pollen grains is made up of (4) Fga W SfaE F O T WS e
sporopollenin o FAE
(9 Dollen grains o many species cause Ve | 1 e 4 i 1 o e 7
1) wEwmEEfEES # fafa waw o F@ s
11.  Which one of the following statements is wrong ? | 2
(;) Ehyco::ycete.s are a[scl) ca!.le;dl a;g: fungi. @ PR B T 7 A we
2 aé;:‘o ac‘t_eyare also called blue-green P I WL
(3) __Golden algae are also called desmids. N @ 7 2 (g {IﬁﬁT) FI q Rl
% Eubacteria are also called false bacteria. ST E
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3)
4

Ethylene

ABA B

Which of the following structures i homol' gus to
the wing of a bird ? ) )

Flipper of Whale
(2)  Dorsal fin of a Shark *
(3) WingofaMoth®
) Hind limb of Rabbit *

13.

\J V
I
Blood pressure in the pulmonary artery is : ‘

(1) less than that in the venae cavae.
(2)  same as that in the aorta. \C!
(3) that in the carotid.

ore than that in the pulmonary vein.

&h_\;
15.7 Fertilization in humans is practically feasible only
if:
(1)  thespermsare transported into cervix within
48 hrs of release of ovum in uterus. /"

(2)  the sperms are transported into vagina just
1 the release of ovum in fallopian tube.
(3 the ovum and sperms are transported |
simultaneously to ampullary - isthmic
junction of the fallopian tube. +~

the ovum and sperms are transported
simultaneously to ampullary - isthmic

junction of the cervix. 5Q

| The Avena curvature is used for bioassay of : W Gl RET C ﬁﬁ TS

13.

O’k

14.

15.

16.

17.

In meiosis crossmg over is initiated at+
( Dlp “-, ‘ %
; achytene 4
|t ( ) Leptotene . )~
(4)  Zygotene
& 17.  Chrysophytes, Euglenoids, Dinoflagellates and
Slime moulds are included in the kingdom :
(1)  Animalia
‘ (2) Monera
\% Protista
4)  Fungi
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4) FFH



embibe

AIPMT 2016

Question Paper - 1st May

English+Hindi 5 Y
18.  Lack of relaxation between successive stimuli in | 18, I Rl # =g fagifa F1 %5 F FHW 21 aret
sustamed n}u§cl_e contraction is known as : e T Hﬂﬁﬁ FEATE -
(l) Tonus ) Erars
Spasm @) U (FIm)
(3)  Fatigue @) uFH
(4) Tetanus “) g
—
Idenhfy the :)rrects i : 19. 'IEfER' w 9R 9 W Fya veat
(1) Is produced by nurse cells in testes and (1) = 90 H 9 () Ffveed g Ie
inRibits the secretion of LF. B ¥ i LH-BE ) St w7
@ lnhiblﬁwuf LH, FSH and (2 LH, FSH iR St wev &1 afia Fa s |
. ___'_____'—‘z—a - v
i " l e ; (3) I% e F FOEmE FEES gm 59
(3) Is produced by granulose cells in ovary an - : =
inhibits the secretion of FSH. N & 31 PSH Tt =1 Hfi e &
i (4) ' WA F FORME FIOHH ZT FGH
(4)  Is produced by granulose cells in ovary and ; . .
inhibits the secretion of L H. e & S LH-Few i Hefrw w2
20. FH F FRO WG 99 B A S

20. Name the chronic respiratory disorder caused

mainly by cigarette smoking :
(1)  Respiratory alkalosis
Emphysema

Asthma

Respiratory acidosis

ﬂo\\/

describes

)

@

Which of the following most a
haemophilia ? '

(1) Dominant gene disorder X
2 essive gene disorder

- linked recessive gene disorde\_/
(4)  Chromosomal disorder

@

Select the correct statement :
e ———
Gymnosperms are both hom
heterosporous
Stquoia is one:uefy tallest trees %/

(1)  The lea erms are not well

adapted to extremes of climate

—
orous anj
Salvinia, Ginkgo and Pinu
osperms

Which of the following is required as inducer!s! for
the expression of Fac operon ?

(1) lactose and galactose Na
(2)  glucose
(3)  galactose

o2 4 M

yaq-fawr = 9w TEru
VAHA &IHE

(2)
(3)

I AP

\E%Ictose

H | F9-91 Swifad w1 guy s
ITF AU G A 2 7
(1) WumESH = fasn
(2)  F9HET SF & faEn
(3) X -HgEerH IWWEl W19 7 A
(@) TR faE
22, W& FF A
(1)  SrEgasts! Ed F 9faa e T F
@ mﬁ?ﬁ;ﬂwﬁﬁmﬁmﬁ
@G| @feafyan fam & wzag, 3 94t sgere
g
(4) fErmTEaEgE iUy
23, O wHes %1 afveate ¥ fou frafatas § 9 95
UF W& & ®9 4 F1E F4 & fon savgs 2 ?
(1) R I e
2) T
3 e
(@) e

——
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24.  Atall true breedin ; g 24.
a dwa gy garden pea p L= Wh I
Fy p[ants were § lfe the resulting enoty'peg were
inthe ratioof : —
(1) 3:1:: Dygarf: Tall X
:27:: Tall h ozygous : Tall heterozygous
: Dwarf
(3 1:2:1::Tall he’aerozygous Tall homozygous
: Dwarf
4) 3:1::T§1]]:Dwarf_
25. Which part of the tobacco plant is infected by
Meloidogyne incognita? ~
Root
(2)  Flower
(3) Leaf
(4)  Stem
26.
26.  Which of the following is not a characteristic feature
during mitosis in somatic cells ?
Synapsis °
(2)  Spindle fibres.
(3)  Disappearance of nucleolus
(4)  Chromosome movement
27.
@ e following statements {s not true)_for
?
‘ Mutations inhibit production of telomerase’
P (2)  Mutations in proto-oncogenes accelerate the
1 cycl
ce e. -
(3)  Mutations destroy telomerase inhibitor "]
(4)  Mutations Eghvate the cell control. v
28. the major components of cell wall of most | 28.
fugg' is):
Hemicellulose
N\ Chitin .
(3) Peptidoglycan
(4)  Cellulose
29. Cotyledon of maize grain is called : 29,
scutellum
(2)  plumule
(3)  coleorhiza
(4)  coleoptile

CHRTEEm m—
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oA FEH e UIRY ¥ HHAG I T w4
TIedi 1 =i & T @ S wey wm arm

o s o o ?
1) 3199 =
() 1:2:1: @ gHgIHS - o fauagres - |56

@) 1:2:1 = foymgrgst o gugrst
(4)  3:1:: =30

TErE F WY W A W WM FegenET g
BRI HehTHA Bl & 2

an ==
@ ™
@ T
@ @

it FafeEme § T F 2w frefafes § 3
FHTT—HT A&T0T TE T A ?

(1) HFFgE

(2) TEHEdE

B) iz e
(4 TR Tfa

IO & HaY § o i & fee Fefatae
Fo H BT TR AR E?

(1) el T % S i Hefd w3
E4l

(2) WSS H SeHEd IR aa i @
FETAE

(3) TG A TEHE A F G 7

(4)  IeafiadA Fifye- s = Hfera s ad 2

Hfmm Fa=i § v fufs 1w v@ sem
FAFE?

(1) EHEETE

(@ wEfEA

(@) UErEreEEA

(4  Geges

HEH] % T4 & arT9d HI o Fel A e 7
1 wpEm

2) WF

@) -

@) g
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30.  Which of the follewingvx%uld appear as the pioneer

organisms on bare rock \2 \/\

(1)  Greenalgae ~
\
31. ) Changes in GnRH pulse frequency in females is

Lichens
(@) Liverworts R_)\{
(4)  Mosses

controlled by circulating levels of -
(1) gesterone and inhibin
( estrogen and progesterone

(3)  estrogen and inhibin
progesterone only

Antivenom injeclidn contains preformed antibodies
ps that are administered into the body

Attenuated pathogens “
Activated pathogens %
(3)  Harvested antibodiesX
(4)  Gamma globulin ¥

33.  Photosensitive compound in_human eye is made

upof;
(1)  Transducin and Retinene

(2)  Guanosine and Retinol
(3)  Opsin and Retinal
Opsin and Retinol

—

34.  Specialised epidermal celeurrounding e guard
cells are cal : —]

(1)  Lenticels
Complementary cells
) Subsidiary cells )\

(4)  Bulliform cells X

//_7
35. Which of the following features i{ not gresent ;}h
Phylum - Arthromda ?

(1)  Jointed appendages -
(2)  Chitinous exoskeleton
(3)  Metameric segmentation =

Pargodia au ﬂ,{{

@ Redugfion in pH of blood will : /
1 release bicarbonate ions by the liver.

(2)  reduce the rate of heart beat.
(3)  reduce the blood supply to the brain.

(4)  decrease the affinity of hemoglobin with
oxygen.

Question Paper - 1st May
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31.

32

33.

35.
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HEIH § GriRH Ted SHEA] 9501 &1 Fram fas
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(1) WS s et

(2 IEeA i e

(3) I @i el

(4) T USEA
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(2) TEETEE &R e |
@) 3ifms e e g
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gR FvE 1 9 gt fafrdiga

FHITYTRIST T T el 7 & 7

(1) Ty

@ TR XK\\Oz
(3) TS FIYE -

(4)  amad TERTET

Frfafaa wemi o 4 - dam wEem - anghire
T & T e ?

(1)  =fea 3aim

(2) FrEfe amEwE

@) faEsE ggyem

@) ETE
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Y o | AL %-%Z {57
37.  Which of the following characteristic features | 37. fy=fafad § @ -3 fafore a0 g & sigsii F
always holds true for the corresponding group :
nfan?malsj’ Hjﬁﬂﬂﬂﬁwﬁﬁ§7
3 - chambered heart with a) A o = wd forad sy riferm
(1) Jone incompletely divided |Reptilia >Q = g9 U e g g
ventricle —
i filaginous T (2)|zuifesa sia:F=a i g
b% endoskeleton ondre \)Lm/ O EEIEEEED aifera
(3) |Viviparous Y ~tMammalia
@ Possess a mouth with an Chordata (4) 0 ol e e e g FET
upper and a lower jaw ElRIASIEl
38.  Match the terms in Column I with their description | 38.  “hieH I %l wredl 1 shiem 11 H fou 7q 37 v &
in Column Il and choose the correct option : g Fifeu a7 98 fameq ﬁﬁ'{ 3
Column I Column II AT | HEA 1]
(a) Dominance ~. (i) Many genes govern a (@) wuifaar i) 3 S Ushel &0 F
L single character Y
) Codominance f(ii) In a heterozygous o
" | ((i::/“ organism only ong Elle!e (b) FEwE (i) ﬁqwgmaﬁsﬂaﬁﬁﬁa@a
/expresses itself & edter = 1 aAfyer
(c) Pleiotropy, \ (iii) In a heterozygous AT
\\Figﬂggﬁﬂﬂ@ﬁ (c) =gwwIfam (iti) Tarergrersht <fta & < &
% press themselves fully \, efe = W g e
(d) Polygenic i)} A single gene influences f g ¥
inheritance many characters Wﬁ/ ' )
Cada: Famfa  (v) e S 3 S
@ ® © @ C ~( IS T |
® @ G O @ \I\\ WS
@ (@ @6 (v (i) @@ ® (@ (@
I i 1) Gv) ) 6 (i)
. o P @6
4 () ) () i) @ @) @  (Gv) ()
i @ (v O @) ()
39. / Atypical fat mefeculeds made up of :
O 1) e g d three fatty acid molecules | 39. T WREUl 551 1 370] forareh =1 €t & 2 _
olecules and one fatty acid () o e SR e AvE
@ o el v SR U 9 s A H
and three fatty acid molecules (@) U TeitEdie a1 SR A wE s ST w0
One glycerol and one fatty acid molecule @) UE et i o =@ I 0
40. roximal end of the filament of stamen is attached | 40, g™ F T F1 Fwery faw st 5= TAE?
SO (1) qoE 1 g
Thalamus or petal @ T
(2)  Anther ) 4
(3) Connective
(4) Placenta (4 ~omEr
O W . 41, fFreAfEf@m A3 FR-MFATE@E?
; ichone of the following statements is wr f A
Glycine is a sulphur containing amino acid. Y0 () b ; .5 1 3 il
(2)  Sucrose is a disaccharide. L~ @ TEIE ! N
(3) Cellulose is a polysaccharide. v @) . ] ‘5 591
(4 Uracilisa pyrimiding/ ) 1 T A e
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42. Water vapour comes o(mth?plauﬂed through
the stdmatal opening. Through the same stomatal

opening cubgn_d.mmdg_dxfﬁmes_mm_th_e'_piant
during photosynthesis. Reason out the above

statements using one of followmg options :

(1)

[English+Hindi]

One process occurs during day time, and the
other atnight.

Both processes
imultaneously.

cannot  happen

(3y” Both processes can happen together because
the diffusion coefficient of water and CO, is

different.

The above processes happen only during
night time. )0

)

(1) * Okazakifragment "
olysome

(3) * Polymer r

)
44.  Which one of the fol.lowing is a characteristic feag E_e

of crc_;gland ecosystem ?

M

2

Polypeptide »

Ecological successiol
Absence of soil organisms ¢
Least genetic diversity "

(4)  Absence of weeds R

45.  Which of the following i is the most important cause
of anima extinction ?

M
()
&)

Co - extinctions
Over - exploitation

Alien species invasion
abitat loss and fragmentation

In a chloroplast the highest number of protons are
foundin- — —.

EI) Antennae complex

(2) ma

Lumen of thylakoids
Inter membrane space

4
for any of the

Which of the follawi
techniques of DNA fingerprinting available at
present ?

(1) DNA-DNA hybridization

2) olymerase chain reaction
(3 Zinc finger analysis

(4)  Restriction enzymes

46.

47.

A0 owods — ORA

oy

!
sk

Question Paper - 1st May

PAkRTON —2 cluad

42, UEY TR H W@ AT TH F FW AR A e
THTETATT F S SH T FEA SEAFRES
ey 4 foufm A ¥ IvE FuA F (FEW W
faam =7) ws fawey 9o
(1) U R faT | qun gl wiera Ta | g 7
(2) =i wiwand we T TE @ Hehd |
@) S wiwar U W w W § i o 3

CO, F1 famrm o fu=t &1
@) Svdaa wiwand Fae 1A o @ wEd E

43. YA 1 T HFA S RNA F THA G & /Y
T O €, T FEA R 7
(1) ST @S
(2) e \/
(3) T (EgeT)

(4) wieieEs

44, Trafafed § & #6 v Faym ofa=s w0 e

®?

(1) Ofaf=e A

() @ e i sfeafa
(@) g SrE T At
(4)  STIgU = AgarEafd

45.  wgei o aed i faefa @ frefafea A G sR @
U gAY FA0 E 7
() HE-TErw
@@ s

- @ fas sfa = =gE
@) omEm A e s

46. @ wE® § vt w1 aifisen weEm Fa S
%7
1) TETE
(2) Tifes
(3) YRS Fi SFFHIIH
(4) I HE R

47. EluAu, qfaerd ®t fFE 9 awAw * fag

fAfafaa 4 9 f5g UF =1 savasa T8 e ?
(1) FTAE - EEE

(2) Wi gEen sfufEa

@) o= sfa fagemm

(4) wigayd A
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The primitive prokaryotes responsible for the
production of biogas from the dung of ruminant
animals, include the :

(1)  Eubacteria
(2) Halophiles
(3)  Thermoacidophiles

\_/(Mf[ethanogens

49.

50.

Which of the following features is\not presen Jin
F:en‘glaneta americana? . o) W 3
1)

( Metamerically segmented body -

@)
(3) Indeterminate and radial cleavage during
embryonic development

L/(JJ/ Exoskeleton composed of

N-acetylglucosamine

Schizocoelom as body cavity e

A system of rotating crops with legume or grass
pasture to improve soil structure and fertility is
called :

Wﬁng agriculture

(2) Leyfarming
(3)  Contour farming
(4)  Strip farming
51.  Which of the following is @ matched in the
given table? =
/Mfcrobe Product Application
\ Clostridium  |Lipase removal of oil stains
butylicum
(2) | Trichoderma  |Cyclosporin A immunosuppressive
polysporum drug
(3) |Monascus Statins lowering of blood
purpureus cholesterol
(4) |Streptococcus  |Streptokinase removal of clot from
blood vessel

52.  In mammals, which blood vessel would normally

carry largestamount of urea ?

Hepatic Portal Vein

(2) RenalVein
(3)  Dorsal Aorta
(4) Hepatic Vein

[EngiishHind]
48, 3 wfen WrEHwE WO, S qeet sigal & e |
arrTE-3Ea & fon Iaer B ¥, fead sfaria
A;ME?
(1) g S
() TEhE S
@) a9 o %
@) TRETH F
49, Fretfafas § @ -9 @ww WRer sERET H
& qr S ?
1y fogew: @fed <@
@) e % w9 H e
@) it fE ¥ sfifa o s faee
@ N - e @ ffifa s
50. qmmsﬁtmwigwaﬁ%ﬁﬁt{wﬁaﬁ
efier i (STIH) A1 A ARE % WY wEeh
T ) FHE A E 2
(1) = FE
@ @&
@) HHeEEE Edl
(4 wEEREd
51, A @ R afes § em faerdt wh A @
gfu :
e Enic FATET
)| grreifesm | 3o % w9 wer
FeHAfeTHH
@ | zreai [t - A |wfen dewd shafu
et
C) | grere =fiq sy i@ B FH
R gac
ey ey EE T T
Ealitl]
53w H, F - SR A e S

Ffe =ed HTA €2
) =Fa frafer fom
@ T - fm
@ TS e
(4 ¥Fa-fm
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54.

hepatopancreatic duct into the duodenum ?
- —
Sphincter of Oddi -

55.

56.

57.

58.

AIPMT 2016

7k out the correct statements :
Haemophilia is 2 sex-Ii recessive disease.
. = _—

(b)  Down's syndrome is due to aneuploidy\\/

(c)  Phenylketonuria is an w
gengdisorder. \ __—

(d)  Sicklesell anaemia,is an X - linked recessive?

ed@o@fr. P<

(a), (b) anld (c) are correct.
(2) (a)and (d) are correct.

(3)  (b)and (d)are correct. * \)/ 7
(4) (a),(c)and (d) are correct. \/ “/ 7“

Which of the following guards the i

(2)  Semilunar valve >
(3)  Ieocaecal valve @
(4)  Pyloric sphincter )

Microtubules are the constituents of :

(1)  Centrosome, Nucleosome and Centrioles ™
(2)  Cilia, Flagella and _Peroxisog&

Spindle fibres, Centrioles and Cilia.,
(4)  Centrioles, Spindle fibres and Chromatinp‘1

The coconut water from tender coconut represents :

Free nuclear endosperm \__—
(2)  Endocarp

(3)  Fleshy mesocarp

(4)  Free nuclear proembryo

Fricarpellary, syncarpous gynoecium is found in

flowers of :

(1)  Poaceae
Liliaceae

(3)  Solanaceae

(4)  Fabaceae

i @ modification ?

Which of the following 'S
(1)  Flattened structures of Opuntia
Pitcher of Nepenthes,

(3)  Thorns of citrus
(4)  Tendrils of cucumber

11

N\

53.

55.

57.

Question Paper - 1st May

TE FUE g
(a)  ErEifern fom-geem st R
(b) = HEm g F Fww g )

© WieEE (femasemgiE) w st
T A oA fawr

(d) = FH EAEET X -HeerE AY9E! S
fawr 21

() (a), (b) 3R () T
@) (a) ¥R (d)TAE
@) (b)) TAE
@ (2 (I TAE

Frafefaa & & #1-5 = gge=E o afed &

TRt H G ATt 19 HT @I FE 82
(1)  SieE i et

(2) HAHEEER FUE

@ PEEwE

@ e s

(1) arEHEl, ey ot awmss
() weEn, Fems i Wi &
(@) e W, R S ve
(4) AREFEI, T 0 3N wHf F

F=d AfFe |, Afas g #2182
(1) A FEaE! o

(2) FFaE

(3) TeER HeAwErta

(@) A F o

P!, Faamedt s s qu § da 2
(1) e

@ fafaed

() HeEEt

@ R

Frafafas § § 39 T 73 % == 789 8 2
(1) SmErE =

@ AT FEHE

@ fems=wR

(@) =i EwaH
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59.

60.

61.

AIPMT 2016

The taq polymerase enzyme is obtained from :
(1) Pseudomonas putida

Thermus aquaticus
(3)  Thiobacillus ferroxidans

(4)  Bacillus subtilis

Stems modified into flat green organs performing
the functions of leaves are known as :

(1)  Scales

(2) Cladodes

(3) Phyliodes
Phylloclades

In higher vertebrates, the immune system can

12

distinguish self-cells and non-self. If this property
is Tost due to genetic abnormality and it attacks
self-cells, then it leads to :

(1)  Active immunity
(2)  Allergic response
(3) Graftrejection

\/“( Auto-immune disease

62.

63.

Nomenclature is governed by certain universal rules.
Which one of the following is contrary to the rules of

nomenclature ?
;_,_——-—-____

(1)  When written by hand, the names are to be
underlined , _—
Biological names can be written in any
language N

(3)  Thefirst word ina biological name represents

the genus name, and the second is a specific
\_/

(4) The names are written in Latin and are
italicised v~
s S

In bryophytes and pteridophytes, transport of male
gametes requires : )

\/Water

(2 Wind
(3) Insects
(4)  Birds

59.

61.

62.

63.
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[Engfish+Hindi|
o fereitel Cen e e feran e & 2
() TS geer
() gHTTRERHEd

() TeFrEfger wnae =
@) e FEfad

fedi 1 F T, 992 B S H S a9 &l
1 el =l & ?

1y v
(2) Wi TE
@ i
@ Ui g

=t lEAl H, ufien @9 @-wvEs s
f-Fiferat § 98 T ua €| 3fe 73 W et
ATA ¥ FRU g8 0 AR @ S AR 9w
H-FferEE T wE A TS Ry
T Em ?

(1)  |fFa vl
@ et sElE
@) i R FE
(4) TEwfata o

am-ugfa Fo fadr s = fad gu it

2t ¥ | Frafafad § @ 99 9 0 FYA -9 F

i & foeg 87

(1) T v wyg | fed € 6@ 38 it e
ElnlE

@ S am i fadt o s ¥ favan v ¥

@) Sfaw am F geen W= 79 AW SR g v
e F%a e 1 wefvd wi @

@ A A v F siv fr sl § feran
EiGIE

SRR 3R HREmEe § W e F A F

fem faraat amavaea 2rdt & ?
(1 ==
2 W=
@ FE
Teft

@
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64.  Incontextof %&i& which of the following
statement ww { (')

(1) Itcan be used for detection of Cleft palate.

(2) is usually done when a woman is between
14 -16 weeks pregnant.

(3)  Itis used for prenatal sex determination,_~

(4) It can be used for detection of Down
syndrome. &

65.  In the stomach, gastric acid is secreted by the :
(1)  acidic cells
(2) | gastrin secreting cells

\/(—( parietal cells
A W peptic cells

66.  Spindle fibres attach on to :
(1) Kinetosome of the chromosome

(2)  Telomere of the chromosome

\/(a( Kinetochore of the chromosome
~CROCTI0TE Of the chromosom
(4)  Centromere of the chromosome

67.  Which is the National Aquatic Animal of India ?
(I) Sea- l;orse
\Mngeh’c shark
(3)  River dolphin
(4)  Blue whale

&

Which one of the following cell organelles is
enclosed by a single membrane ?

(1)  Nuclei ‘(
(2)  Mitochondria ¥
(3)  Chloroplasts »

Lysosomes

69.  The two polypeptides of human insulin are linked

together by :
\_/a«))l)i;";;hjde bridges

(2)  Hydrogen bonds
(3)  Phosphodiester bond
(4)  Covalentbond

Question Paper - 1st May

=

‘ (2 I AHER | T o e & = S 1416

67.

69.
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70.

71.

72. ‘ uctures are a result of :

73.

74.  Which one of the following characteristics is not

75.

L/(1.)/'l'heu' RNA is of high molecular weight
el Lt Rl

ators in some plant’species, _A".
Pollen grains of many species can g
on the stigma of a flower, but only one pollen Ten

AIPMT 2016
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In which of the following, all three are
macronutrients ?

( itrogen, nickel, phosphorus

(2)
@)
@)

Boron, zinc, manganese7d
Iron, copper, molybdenum
Molybdenum, magnesium, manganese

Which of the following statements
viroids ? T

is wrong for
@
®)
)

They lack a protein coat
They are smaller than viruses _—
They cause infections +

()
@

Stabilizing selection
Divergent evolution
~ Convergentevolution

(4)  Shared ancestry

Select the incorrect statement :
‘.—C—
(1)

LH triggers secretion of androgens from the
Leydig cells. v
FSH stimulates the sertoli cells which help in

spermmgenesm g/

&)

and FSH decrease gradually during the

follicular phase.  {V\ LALGA 0

shared by birds and mammals ?
(1) Warm blooded nature «—"
(2)  Ossified endoskeleton —
(3) .Breathing using lungs "
4 iviparity

Which of the following statements is not correct ?
N —————

(1) Some reptiles have also was

tube of the same species grows into the style.

Insects that consume pollen or nectar without
bringing about pollination are cailed'\
pollen/nectar robbers.

@)

(4)  Pollen germination and pollen tube growth

are regulated by chemical componen;;_c{/

70.

71.

72.

73.

74.

75.

o\

4

L~
/ 4)

pollen interacting with those of the pistil.
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frefafas 4 3 Fm | 70 geains € 2
(1 EdEm, e, R
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(3) e, @, Hiefisean
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() LHsenm ¥ sigeasy = ifa wa )
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Sy

Frefafas @evi § 9 FF-m T @ ofeE s

TR S H A e e # 2

() Framard vt

(2) =T sfasEa

(3) FFHE g vEaEA

(4)  HelEwSEHd
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76. Seed formation without fertilization in flowering
plants involves the process of : D

1)
@)
@)
O

77.  Which of the following approaches d:
the defined action of contraceptive ?

pomixis
Sporulation

Budding

Somatic hybridization

//

A

Vasectomy

prevents spemutogenesig

W -

)

Barrier methods

prevent fertilization —

increase phagocytosis of

3 Intra uterine Sperms, suppress sperm
®) devices motility and fertilizing |
capacity of sperms o
Hormonal Foevent/netad entiy Of
@) . sperms, prevent ovulation
contraceptives

and fertilization

78.  Theamino acid Tryptophan is the precursor for the
synthesis of :

O

(3)
)

79. A river with an inflow of domestic

rganic w y resultin:

Cortisol and Cortisone

Melatonin and Serotonin

Thyroxine and Triiodothyronine

Estrogen and Progesterone

e rich in

o
1)  Death of fish due to lack of oxygen. (—

r
(2)  Drying of the river very soon due to algal
b

@)

(4)

bloom.

Increased population of aquatic food web
ol oo o by, il

organisms.

A

An increased production of fish due to
biodegradable nutrients. ?ﬁ

S

76.

78.

Y

it et # famn firem & wire e frefated 3 4

FH G AEn R ?
(1)  HETSHA

@
@ gFe

(4) I Hem

Freafafas sgrmi § 9 HE-11 39rH fad mifRaE

=1 uftnfem foman & s ?
() [yFas IeT (YA TR e e |
) [Fa (3fgy) fafirat |fAa=m T €
YIS F SRR
. |=@ T E, g
s vt gfeat|
i freeren w PR
T HeA FE §
YR F TE #
ol &/ Ut S o = T

2, sigmn i friem 7
Lkl

i e feerida fme wverw & fag gEmd

A e?

(1) S sl FifdEm

@ FeRRE st aeE

(@) gt 3R T e
(@) I e

T A4 v e e § v Sieared 99
wEet firan &, & I9e uftons =@ gm ?

Ferdfrsr it FHH & H HSTEAFT T SACA |
YraTet YR F HIO) TGS el o g S |
weftg sdrsr i wafe § 3f & et

ArEfEirEae WIHv & HR0 TS H SIeA 4G

@)
@)
@
)

sl

b mmes
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80.  Gause’s principle of competitive exclusion states | gp, =% syersiq =1 74 faay ExcilAc
that: 5 g s
% (1) IaTEA 73 3T ¥ e wt g e e
(1)  Larger organisms exclude smaller ones =1 AT e 2d 8
through competiﬁor% ©) s e R A e g
(2)  More abundant species will exclude the less FH TN § 9 S A S w sgar
abundant species through competition. 4 1
(3)  Competition for the same resources excludes (3)  W9HE HEeE & fon Tt oE TS 9 et
species having different food preferences. F &0 S frs wR ¥ i W R Sifea w©
No two species can occupy the same niche TRt # 1
indefinitely for the same limiting resources. @ =R o 9 i v @ frira F srifon sty
= fore = ® wedl #HifF S ganm
81.  Asthma may beattributed to: THE A B
(1)  accumulation of fluid in the lungs %0 .
- . el 81.  3TEAH H FWW F A {2
terial i ti - e
(2) acterial infection of the lungs )O (1) B s e T A
\))/ allergic reaction of !:h:sndst cells in the lungs @) e & muj R HHAT
) inflammation of the trachea (3) TSI H AT FITEE i v - sifufm
(4)  vargEE w9y
a];) :ﬁi%a_rd petal of a papilionaceous corolla is 82, Aftfmsid A TGS § I o Y 5 RE W
H S A # 2 .
(1) Corona @ s
\(\2) Carina (2 FHem
(3) Pappus @
@)  Vexillum @ e
83. fr=fafas 4 4 71 W w, wfEvs wEmfens
83. Whjch of the following is a restriction 8?7
@ uclease ? N (1) IS
(1) RNase R @ fe=u
L/(Z)/ Hind II @) e
(3) Protease @ !
4) DNasel 84. TS IEN F [l o GHEEA 1 DI AR F s F
fom weTEt W S emEH wa # i
It is much easier for a small animal to run uphill ) Eﬁ%a@aﬁ F i} ﬂ‘ﬁ% G!{[S?fiﬁ b
than for a large animal, because : TR gt 81
(1)  The efficiency of muscles in large animals is @ SRR MR TR A IR 3
&/P than in the small animals. LEA Y
o s o (3) I AR FE W F SYITEE o e
It is easier to carry a small body weight.
¥ e e 2l 21
(3)  Smaller animals have a higher metabolic ra?e. @ ORIERE it = O, ST A
(4)  Smallanimals have a lower O, requirement. ECcin g
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Following are the two statements regarding the
origin of life :

(a)  The earliest organisms that appeared on the
earth were non-green and presumably

anaerobes.
(b)  The first autotrophic organisms were the
chemoautotrophs that never released oxygen.
Of the above statements which one of the following
options is correct ?

(1)  Both (a)and (b) are false.
(2)  (a)iscorrect but (b)is false.
(3)  (b)iseorrectbut (a) s false.
\Mand (b) are correct.
86.  Acellattelophase stage is observed by a student in
a plant brought from the field. He tells his teacher
that this cell is not like other cells at telophase stage.
There is no formation of cell plate and thus the cell
is containing more number of chromosomes as
compared to other dividing cells. This would result
in:
(1)  Polyteny
(2)  Aneuploidy
Polyploidy
(4)  Somaclonal variation
87.  Depletion of which gas in the atmosphere can lead
to an increased incide cers :
(1)  Methane
(2)  Nitrous oxide
Ozone
(4)  Ammonia
88.  Joint Forest Management Concept was introduced
in India during :
(1) 1990s
(2) 1960s
(3) 1970s

89.  Which one of the following is the starter codon?
(1) _ UAG
\}/ AUG
(3) UGA
. @) UAA
(k@ The term ecosystem was coined.by :
NS (1) E Wammg)?Q
(2) EP.Odum
AG. Tanslezi

&
\_/\‘( E. Haeckel

17
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Y
85. wiad ¥Mcafy % e H < wuA feu o ¥
(a) qw’rmmﬁﬁmﬁmﬁmnﬁﬁa'&ﬂﬁa‘z
3R e sETEEr
. ® WO W B ATl TN Sie e 8
/ o= siaitem 1 Seqeid 78
I FeE § § FA-H frefafed s w@ g2
(1)  (a) 3 (b) 2 & o E
(2) (a) WEl T ATF (b) TR
(3)  (b) HE T WfHA (a) Tew@ B
@) (a) 3 (b) 3T & W E

86. Wd ¥ 9@ T UF YRY v § uw fawndf g
Ficarere @ T | 9 A e A Fear  fE e
IR ST O 7 Fifv 4 fam ) wmy
IR wie T =t 37 59 0 39 HIvE H
faurs et FifvEst 1 s sfuw R §

T U =1 2 ?
(1) =guE
2 s
@) =g
(@) FrEE fafia
87. amEW A fFg T wi s SN WEm F Fw F
AT g S ?
1 HEE
(2) TEgd AlEEE
@) sEA
(4) st
88. HIE o WEHA I URON 9°a § fag A weafaa
=TT ot ?
(1) 1990
2 1960
(@ 1970
(4) 1980
89. fr=feifad # & 17 W & ywo wge 22
(1) UAG
(2 AUG
(3) UGA
(4) UAA
90. IHIAERA (VRAH) Vet Tad et fHEa wn A1 ?
1y & afdn
(@ Ui sfem
(@) wSH IES
@ 3 fezm
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91.  What is the minimum velocity with which a body of

92

M  5eR
5 B 4F
\/m/ 2gR
@ 3R
If the magnitude of sum of two vecto: e

®

self-in ance of the solenoid is ;
1H 4\

&
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mass i must enter a vertical loop of radius R so that
it can complete the loop ?

magmtude of difference of the two vectors, the angle
be ween these vectors is :

\wﬁ —%H%

At what height from the surface of earth the
gravitation potentlal and the value of g are
~54% 107 kg~ 2and 6.0 ms ~ 2 respectively ? Take

the radius of earth as 6400 km :
(1) 2000 km & gr Jo )"
@ 2600 km 0 _’ﬁ_f’

@)

1600 km
@) G

1400 km

:9[,§ [ —

A long solenoid has 1000 turns. When a current of
4A flows through it, the magnetic flux linked with
each turn of the solenoid is 4x10~2 Wb. The

4H
3H
2H

@
®)
@

= Ix

Aninductor 20 mH, a capacitor 50 wF and a resistor
40 Q are connected in series across a source of emf
V=10sin 340 t. The power loss in A.C. circuitis :

1 089w
2 051W
(@) 067W

@) 076W

92.

93.

jaghartrptlt

95.
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R o % foft st ot (5q9) § o 2ommm &
fort fave =1 favm Feram & 9 waw o =ifen fr
= T R QU G 2

1 J5eR
@ JsR

@3 2R
) 3R

afz <1 wfewi % =m %1 ufam 3 § wfeed F R
oftm & we €, @ 5 wfewi Fdmwmd

(1) 180°

(2 o
(3 90°
@ 45

Yol % g A fopareft S w0 ety fava sl peedta
T g % HHA FHHA: —5.4 %107 ] kg 230 6.0 ms 2
B 7 g i o 6400 fo . wfifsa

(1) 2000 f&..
2) 2600 fa.H.
(3) 1600 T4,
(4) 1400 fw

Tersdt wrvait wftfersm & 31 =1 de= 1000 %1 v/ =4
gt & 4A 9 wenfea 2 €, @ 39 oftnfe
F TF e H TG gEEE T 4 x 10~ 2 Wh B
B 39 uffersn 1 E-Uwe

1) 1H
2 4H
3 3H
4 2H

ferelt #ia fS=T emt, V=10 sin 340 t &, | 1
20 mH 1 ¥, 50 wF 51 G 791 40 O 7 ol
waifer &1 =g yearat g uitey F v e d
(1) 089W

2 051w

B) 067W

4 076W
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Two identical charged spheres suspended from a
common point by two massless strings of lengths |,
are initially al a distance d (d < < ) apart because of
their mutual repulsion. The charges begin to leak
from both the spheres ata constant rate. Asaresult, |
the spheres approach each other with a velocity v.
Then v varies as a function of the distance x between

the spheres, as :
Vit |
‘*:)EZ
(

1 ovxx!
1
@ v=a?

\_/31/1111

1
4 vex 2

1 2
97. q o——
v T e
’ 2 MT —‘g : @
A capacitor of 2 uF is charged as shown in the

diagram. When the switch S is turned to position 2,

the percentage of its stored energy dissipated is :

1)  80%
@ 0%
@)  20%

o

98. A particle moves so that its position yiector is given
W"L’efe-nLiiL

+ A % A
by r =coswtx +sinwt y .
constant

Which of the following is true ?

(1) néiiy is perpendicular to T and
acceleration is directed away from the origin.
() Velocity and acceleration both are
perpendicular to T
_—
(3)  Velocity and acceleration both are parallel
e
to r.

(4)  Velocity is perpendicular to Fy and

Question Paper - 1st May

| @V

- élfl

acceleration is directed towards the origin.

yerourty e

g0 - comih
et fag @, 7 |+ 2 FEEEEA St

H freifea, < adum smafem e, s afemsn &

FH, AT H TH-gE A d (d < <)) TR E

B T | U 1ad S A STE ohi SR SR 2l g,

#R T YRR e UF gEL # SN a0 §
&1 9 el & =g g, o F e & wY H
Towm faEm g sy d g 2

M vex! _ [ )/X U‘ >
1 E- KX

@ oo x2 9
;
e 1V
Qv
g o

B ovxx

1
4 vxx 2

Q,_ 1 2

-IS

i 2 pF :guF 'L 1
T “‘l V-V P [O¢

O

v
i@ H T ATER 2 uF it F fmdt gufa &
s fargn w2 Graﬁaasaﬁ@ﬁ{zmgqm

= 2, @ s Afaa S @ wfavm e

v (00D

(3)

@ 75% >L ]D/D
V\)

HE T W WHER T F ¥ 6 9 feafa wfew

T =coswt ¥ +sinwt y g FrEleE fEm T g

ﬂﬁw@ﬁm%l

frafefaa § & #7 @ w97 99 §2
(1) 3T ¥ erEad & A = e fag 3 @
#R frefifa 21

@ TR A [ FeEaa
@) WEREmEH @ [ Fune E

@) AT ¢ F orEEd ¥ A =R e fag e
Frafefa 21
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99. F;-(:urr;:‘disc;fragiusgand massthM, a c;‘n;:lar hole | 99,  zoym M Ten fn R &1 fordt foms & R =18 =70
ol eter R, whose rim passes through the centre ﬁémﬁasﬂmmm%ﬁm%ﬁx
is cul. tis glle,momem of inertia of the remaining ; .
part ofthe disc about a perpendicular axis, passing o & &= 8 o fow & 9w wm L, foww &
thi thecentre? T 3HF Hw [ A @9 & ufiE: F3a
9 MB2/32 ALY
15 MR2/32, 0 MRS
(2) 15 MR%/32
@ B MRE/BZ' @) 13 MRY/32
T MK, (4) 11 MR%/32
““9 sty beor |, o ey v
density are twice as that of earth is : q 70 &, Fean st s e W
; HIENHATE? ;
&) :
(I) 1: \/E ¥ = | @d ]
@ @ 1:2
\ @ 1:242
@ @ 1:4 {+
101. A potenhometermre@lﬂﬂ cm long and a constant 101, foet favemmdt & ar =1 e 100 3. & 9o 59
potential difference is maintained across it. Two ol % o % fom favErr s e ¥ @
cells are connected in series first to support one o i e
another and then in opposite direction. The balance Sl 3 qﬁ:‘ Q? kS ?ﬁf % i H:Tlﬁ =
points are obtained at 50 cm and 10 cm from the ¥ e @_@ it fematt e
positive end of the wire in the two cases. The ratio T 1 AN v § ye-fadg feufy  moF
of emf’s is : oeT | 50 . iR 10 A5, g W e B
@ 3 T 3l Sl FT emf I ST9E E
L/g/?ﬁ m 3:2
@ 5:4 @ 5 )
_— @) 5:4 LoD
) @ 3:4
) A siren emitting a sound of frequency 800 Hz moves STt ; e
away from an observer towards a cliff at a speed of . %0 e = = S T e
15 ms~ L. Then, the frequency of sound that the Tt e & TF FgH F SR 15 ms 1 W T F
observer hears in the echo reflected from the cliff is : faa §1 @9 39 = #: argfd, forg wzm |
(Take velocity of sound inair =330 ms~1) ) F W T G A R, 0w 2
(A # wafq & = =330 ms ! SAifan )
(1) 885 Hz P
() 765 Hz @ 765 Hz
(3) 800 Hz (3) 800 Hz
(4) 838 Hz (4) 838 Hz
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A=1,B=0,C=1

1) A=1,B=0,C=1
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|

1 " [y
21 %
103. To getoutput1 for the following circuit, the correct | 103, i< feu 7o aftyy 4, frfa 1 wa &1 = fou o=

| choufeforthe w @Q SO d .

- ED >

‘ i

| Y e | %

|

l

@ A=0,B=1,C=Uﬂ

®) ,B=0,C=0 :
\}’/’;’2,3=LC=0 S

104. Ina diffraction pattern due to a single slit of width
‘a’, the first minimum is observed aLa.@&gﬂL
when hght of wavelength 5000 A isincidenton the
slit. T}?gﬁ?sfseco——dqy_mmmum is observed at an
angleof : i

— 4

—

105. When a metallic surface is illuminated with
radiation of wavelength A, the stopping potential is
V. If the same surface is illuminated with radiation
V
of wavelength 2)\ the stopping potential is — . The
threshold wavelength for the metallic surface is:

M
(2" ax E pi j/\ C/
(3)  5A

E A ' //Y'
@ 3

106. When an a-particle of mass ‘m’ moving with
velocity ‘v bombards on a heavy nucleus of charge
‘Ze’, its distance of closest approach from the
nucleus depends on m as : -

(™

A

6]

@

2 A=0B=1,C=0
(3) A=1,B=0,C=0
@4 A=1,B=1,C=0

S HreE ‘o’ w1 et uee farll w5000 A winded
il WIS ST9EA A €, ot {0 & e 3o faed
Y #30° & F1o W veen e foas <@ ¥ wen
Tediras s fom = w femd om, T # -

104.

CODE

105. =& ferelt enfeaer g & e A % fafeoll @ wda
foran o &, @ it fasm v €1 afe s = o

ainded o & fafewroll & wdrar fon sy, o frieft
ﬁ‘ﬁ{—'@lm%l 39 uifcaeh U6 i Sgell auresd
2

1) 3\
n 2) 4\
@ 5\ _ \
5
@ 3*

Wl FEHA ‘m’ A1 AT ‘v’ H TIIHE HE o “Ze'
AV F TRl W Tfus I FEs & €, O S9aE
e | Feread ITTEA # g0, m W3 yER i

106.

2- gl 31- 2

ma’:
M) m
1
@ =
u §
e Tm
1
@ o2

*’ . n——

% s (3) i /\
o wll) of
280
o (3 7,\\,{1/0
o wl) Y,
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107.  Match the corresponding entries of column 1 with
column 2. [Where m is the magnification produced
by the mirror]

Column 1 Column 2
(A) m=-2 (a)  Convex mirror
/T )
(B) m == Ea} (b)  Concave mirror
\ A
© m=+2 (@  Realimage
1
D) m=+ 2 (d)  Virtual image
(1) A—cand B— band d; C— bandc;
aandd
‘ — band ¢; "B— band ¢ C— b and d;
D—aandd
B) A—aandc—B—oaandd; C— aandb;

D—candd,_~"

A—aand d; B— band c';/
D—bandc

0 C—s band d;

108. A particle of mass 10 g moves along a circle of radius
6.4 cm with a constant tangential acceleration. What
is the magnitude of this acceleration if the kinetic
energy of the particle becomes equal to 8 x 10~ 4] by
the end of the second revolution after the beginning
of the motion ?

{ L}
(1) 02m/s? \6 -
(2 01m/s? W\ =
() 015m/s?
(49) 018 m/s?

109. A small signal voltage V(t)=V, sin ot is appli
across an ideal capacitor C :

(1) ent I(t) leads voltage V(t) by 180°.
Current I(t), lags voltage V(t) by 90°.

Over a full cycle the capacitor C does not
consume any energy from the voltage source.x

() CurrentI(t) is in phase with voltage V(t))K

@

110. A disk and a sphere of same radius but different
masses roll off on two ificlined planes of the same
altitude and length. Which one of the two objects
gets to the bottom of the plane first ?

(1)  Depends on their masses

\/W/S:htre

Both reach at the same time

Question Paper - 1st May

Ay erepdirng 44
Yol ErEm

107. HicW-1 Fit a9 wfafed & foem wiem-2 71
wfafesd | Fifaw| =0 ‘m’ =i grn 3= smads

£l
I - 1 e - 2

(A) =-2 (a) @ gdm

1

® m=-g b)  3EEs g

© m=+2 (o amfas gfafas

(D) =+ - (d)  snrdt yfafas

1 A->cdd; Bobdd Cobdc
D—add

2 A->bdc¢ B-obdc C-obAd;
D—add

3) A—> adc¢ B> add;, C— adhb;
D—cdad

4 A—-add BosbdAc CobdFd;
D—bdc

108.

10 g ESTHM 1 H1E F 6.4 H.HL Tl SO F g9 F
srifen frelt frm enf-tda =or @ fs s 2
Ife Tfd A F33 % TvEE < Wi g e w
1 TS Fo 8 x 10 4] B Al #, A TH = H
ufm F=n & 7 |

(8h}
@

02 m/s?

@'{ @ fare dieedl Vi) =V, sin ot fHE st
IR TE F@T
A

(‘T C % ol W s7wga +1 T T
V(1) F Fen F E
(1) 3 goaaEl o fasf s 2

MR I(t), FEEd V() T 180° AT )
Y Wé .
110. ¢ fzmm 3R T, faat e am vy
@ fo=

0im/s3 ‘L (__ :

T (), e V(e B 00" e #
zorE fim ¥ gaM e sl aeEn & @ e
@ Tien

camb

T U = § Wuifia O dieedn B 3 FE e
FHAE! T e & | T g e § & aeft o v
@) I T E o e
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| 111, Coefficient of linear expansion of brass and steel | 111, dige (sn®) it @ia =1 88 % e JER F
] "::’; are{'%lr“f——l‘f_“ ; é.‘e“lg“‘su—-————dl bf;s“" ‘.’“d._—-———“'t.ee;i‘r‘:a; O T o, W a, F 1 e o7 T # v A}
are l; and'T, respectively. If (I,—1,) is maintaine i e & o it
same ataﬂ’tze_ﬁx;gramres, which one of the following SRl AN [ A, E (- 1) ‘H e
relations holds good ? % form wom =9 s, 99 9 e T dedi § 4
\4ﬂ//7i i FH-H HE 7 7
[ *yty=alz . g ) Vi
D (M) eyl =g, Ny *K Z-
f @ ely=ag, | r \
2. //
| = e O i -k - 2,
; @ ol =a3h X @ o =adl
i -
| 112. A astronomical telescope has objective and eyepiece 112. ﬁﬂﬂ‘@"ﬂ?ﬁ'ﬂ W%’.ﬁmm w1 HHH
| of focal lengths 40 cm and 4 cm respectively. To gial whe: 40 B S 4 B ¥ sageEs |
| view an object 200 cm away from the objective, the 200 A5, X frum forelt foma 1 2@0 & forg, ST
1 lenses must be separated by a distance : i % o # = B : WC
i GAben (1) 540 @,
ol @ 373%A.
% 460cm @) 460@H.
4) 500cm @ 500 F T
113. A uniform circular disc of radius 50 cm at restis free | 113, farmmEen d foom 50 9491, G #1 FE twga9H
to turn about an axis which is perpendicular to its R fom el ¥ ey T
plane and passes through its centre. Itis subjected & qﬁ:? & ;aﬂ; i,
to a torque which produces a constant angular At A - A & ferm W_ | femw
acceleration of 2.0 rad s ~2. Its net acceleration in =E T Wiiuf wE = S HH 2.0 rad s~ 2 I
ms ~2 at the end of 2.0 s is approximately : g FI0E =0 I F I E 2.0 s F UEE
-2 :
LM 30 Wflﬁﬂ ms~2 T THHT 7 O T T
@ 80 1 30
Q (2) 80
@ 70
(3 70
vﬂrzﬂ @ 60
114. A refrigerator works between 4°C and 30°C. Itis | 114. I FSRsitet 4°C 3R 30°C F e Frd FAa1 & | ol
required to remove 600 calories of heat every second Tt = ST T =1 A Faa T F 90 600 FEm
in order to keep the temperature of the rei.’rigera.ted SET TR BETT A (ETAT TIsEr wE 7
space constant. The power required is : i
(Take 1 cal =4.2 Joules) ToF fau smavas wfs =ife
(1 cal=4.2 Joules ifaw)
(1) 2365 W
(1) 2365W
(2 2365W o) 238w
(3) 2365W @) 2365W
(4) 2365W (4 2365W
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a k (‘/@ﬁ&ﬁ m,w\{_b
/7 w—
A gas is compressed isothermally to half its initial | 115, fet 9 %1 gramds =9 F 06 10 ST a3

volume. The same gas is compressed separately
through an adiabatic process until its volume is
again reduced to half. Then -

(1) Which of the case (whether compression
through isothermal or through adiabatic

process) requires more work will depend

upon the atomicity of the gas.
( Compressing the gas isothermally will require
L/ more work to be done. \/‘

116.

oS
\w/‘z“

117.

118.

(3) Compressing the gas through adiabatic
process will require more work to be done.
(4)  Compressing the gas isothermally or

adiabatically will require the same amount
of work.

The intensity at the maximum in a Young’s double
slit experiment is ;. Distance between two slits is
d =5\, where \ is the wavelength of light used in
the experiment. What will be the intensity in front
of one of the slits on the screen placed ata distance

D=10d? - l 7’4—.

@ I

)gw

T 0 non-mixing liquids of densm

> 1) are putina container. The helg each
%5 h. A solid ¢ylinder of length L_and
denstty dis put in this container. The cylinder floats

its axis vertical and length pL (p < 1) in the
denser liquid. The density d is equal to :

(1) f{1+@m-1pp
" |

{1+m+1)plp r~
2+(@+1)plp L
2+(n=T)plp

()
4)

Consider the junction diode as ideal. The value of

current flowing through ABis :

A —  1x0 B
e f—
+4V -6V
1 10°%A - \}JV UB
(2 0A - \/
(BL~10"2A Tk \/4\ + P>
4 10°'A

ile.

117.

118.

Feiifea forn s &1 get frw # g w9 g
SisHA1 5T 39 Y AEaA aF Gifed R
a9 :
(1) = EHATE Wi g Hdifed o srere T
wfswa gr wifed =3, frg wwto § wifirs
T i ST A, 78 T
o fsiz &

9 i AT Wi g Heitfed w3 § aifi
FIE A FT SAETHA B

9 ) ST Wl g Sifed w0t § i
1 FT T STEvEEal 2 |

T =1 HwaTdr Wi s wers wfwma S
o # A w1 w0 T v a

m*ﬁﬁrfgfaﬁmﬁmﬁm%%:
Tl faftEl % g %t gt d=5a & 7@ A WM §
3T foRy Uy aiied ¥ o uw R
TEA gl D =10 d W feord v w dfiwran 70 @it 2

)

(3)

)

I
o 7
@ I
I
® 7
r3 N? /
@ b/ =

TF g H fufgd 4 @9 9w @ za, foad e
p T np(n > 1) &, forsll wr § o ¥ 1 v 29 =
F9E h B @ L iR v d F e Sem 5w
I T @ e # | 9 e o H 5 veR g, fw
THH] A FATR A1 € a9 3HAT T pL(p < 1)
FR A A A 8 TA d FAAE

(1)  {1+Mm-1)p}p p .-
@ (+@enpp }K
3) {2+Mm+1plp .\/
@)  (2+Mn-T1plp R
Y zEE 1 aEY wEE faan | AB #
YaTled 9 1 /A &

A 1k B
+4V
(1 1073A
2 0A
(3 10°2A
4 107'A
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119. A caris negotiating a curved road of radius R. The
road 1s banked atanangle 8. The coefficient of friction
between the tyres of the car and the road is . The

maximum safe velocity on this road is :

=

g By +tand
R? 1 - pg tanb

+ tant
RE s
@ Jg 1, tand

pe + tand
oty 1 SO
& s 1 — pg tand
\/ E, Jou WIGE
) R 1-ptand

120. A long straight wire of radi a steady
current]. The current is unitormly distributed over
its cross - section. The ratio of the magnetic fields

B and B', at radial distan
from theaxis of

!
n 1
@
1
® 3
@ 1 /
121. Given the value
wave number of thelast line of the Balmer series in
hydrogen spectrum w ;
(1) 25x107m!
(2) 0025%10* m~!
(3) B%107 m~!

)
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119. FE FX 750 R F1 9f#Fa 925 W vfa9q &1 7w
TEFH RV 6 T FH ¥ | FHF TR S HE F A
- T B 1S TEH T T | Sy g

T

B W t+tanf b~
(1) RZ Y Mo tanf ’g[ 3’

= g\z\

,RZ B + tant

@ s 1— p. tand
B + tant [

@3) 1 - pg tanf {( Bl[

§ Mg +tanb
@ R 1-p.tand

(4

120. 5= a & el o o9 am | Fd w=r v 1
warfed & W ¥ 39 AR F ATWY FR W GR
wﬁw%ﬁﬂﬁaﬁl IR F ey A g wf

= ai‘ﬂzamm T AE B 3R B I E

1 4
® 5 | PMW
[
) ® }j v (
@ 1N
121. ==t fgais &1 9M 107 m ! & ™0 2, e

TEEH W A g w1 SifaW @A # W gen

i;ﬂ:zs 107 m ! = ¥ ' )
5x m~ — ST
()  0025x%104 m-! K V\( N (
3 05x10" m~! < | l _
()] 0.25x107m‘1v'—;____— T}~
. o7 | L-
122. e f&FE =0 =1 AT o=At+BE2 &, TN 7 B

ﬁzmm% A1 39 T BRI 1s R 2s F == T T4

B o= J07

(0] By
2 3
3 2 M
@ A+iB
@) 3A+7B W d\v () 3A+7B Fé" 0 2/§
3 ¥ " 3 ZB -
) EA + SB ) 2A i 3



embibe

Y
123.

AIPMT 2016

Question Paper - 1st May

The angle of incidence for a ray of light at a refracting
surface of a prism is 45°. The angle of prism is 60°,
1i the ray suffers minimum deviation through the
prism, the angle of minimum deviation and refractive

index of the rial of the prism respectively, are :
1
30°; —
\)/\’r:g

@

(s,

126.

@

1

45°;

@ =
G 3043
@ 42

The molecules of a given mass of a gas have r.m.s,
velocity of 200 ms~! at 27°C and 1.0 x 105 Nm 2
pressure. When the temperature and pressure of
the gas are respectively, 127°C and
0.05x10°Nm~2 ther.m.s. velocity of its molecules
inms~lis:

100
m 5
@ 10042
400
@ A
10042
@ =

An air column, closed at one end and open at the
other, resonates with a tuning fork when the smallest
length of the column is 50 cm. The next larger length
of the column resonating with the same tuning fork
is :

(1) 200 cm
(2) 667cm
(3) 100 cm
(4 150 cm

The magnetic susceptibility is negative for -
M

paramagnetic and ferromagnetic materials

(2)  diamagnetic material only
paramagnetic material only
ferromagnetic material only

6

123.

124.

125.

126.

firem & ot s7oade 7= W el wamr faoor & forg
HTIe HI 1 AE 45° ¥ 1 frem 1o = 7E 60 2
e 7 oo firem & = famfe & €, @ =mm
ﬁammmﬁw%mwmmmﬁ

1

O gy @
@ %35 \/a _ -
@ 302 k) 14 ?L
@ 457 V2 -

M9 27°C 3R T 1.0x 105 Nm~2 W fast fow mq
FEA F1E F A9 F w1 9 96 (rns) 3T
200ms ~ ! %1 579 78 9 F a1 i =@ w1270
30,05 x10° Nm =2 &, @ ms 1 % 59 Ty % syopaii
maﬁmmwé&%

o 1 WA 6f gP,
3 .
= 14E
2 1002 A 4 (g \
400 WA
® 5 J
@ 10(;\5 ,

L

oF 6 W A= 9w e R w ogen A ey
Tt =i fgye & w19 59 99 1R #te & v
¥ 9 W H HH-H-FH a9 50 A, Bt ¥
™ w=fE e F 99 or w733 A w5

(1) 200 FA.

2 667 AL

(3) 100 HH.

@ 150 A

(1)  FET=EHE AR - g vt ¥ fa
@) e yfagasa v F fou

() FEE g TEd F fa

4)  Fae oe-gEEE vee ¥ fo
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T & —) — [ A — 2 = _,h C—’
. 27 /;C X
127.  An electron of_mass m ang@m_@\e 127. S=09M m ¥ Teragi ao fE W # Se E
energy E. The ratio of de- avele . , .
| ey T o of de D avelengts | g 1 7t e e 1 s
! ' 1
' . 1 (2mY;
e (E) » (Z)
- 1(E Y
i @ ()
1 Gi
o (= 1O
2m Y &/
1 1 Y
@ (2mE)’ @ (2mg)’ L R (

(¢ being velocity of light)

128. A body of mass 1 kg begins to move under the action
of a lime c.lependent force F = (Ztl +3t2 ])N

where | and ] are unit vectors along x and y axis.
What power will be developed by the force at the

timet?
(1) g +36)W e M@b
+3B)W - IV ,
(2 +4thyw P < L‘l
@ (@P+3thw e

129. The Wi ugh a resistance R varies
with time fas Q = at — bt where a and b are positive
constants. The total heat produced in R is :

3

0 -
2R Rﬁ/

o % A

o o o
i [

@ 4R

2h

. A npn transistor is connected in common emitter
configuration in a given amplifier. A load resistance
of 800 Q2 is connected in the collector circuit and the
voltage drop across it is 0.8 V. If the current
amplification factor is (.96 and the input resistance
of the circuitis 192 (), the voltage gainand the power
gain of the amplifier will respectively be :

(1) 4,369
(2) 4,384
()  3.69,3.84
4) 4,4

(F&l ¢ W F AT RI)

128. 1 kg &=A6M &1 %13 fovs &t =wenfsm =
F=(i +3¢ )N, 7@ | sin ), xsiwy s
srfew T 9few €, & endf| vfq sos F g, @
9 ¢ W 39 9 g faswfaa wiea = @i 2

1) E+3Hw

@ @E2+3d)wW

( + ahw

i L + %l\fz +3thw

129. T wfdliy R 4 waifeq sm&8w =1 999 « F 99
faatm Q= at— b2 F &9 T EA1 2, T 2 A9 b YATF
frais & RS FA T

{(’1) %R QCQ\JB
Q?(i(z) %R v Qs ab - W\%\j
3 ’ { = 111 =
T
ca o TR

130. %ﬁ&qwmﬁﬁénpngiﬁmm
Ioqsias fo=ma § gaifem €1 800 Q #1 #E @
wfaly Hues ufivy § gaifaa & v 9% i =
0.8 V favaTa &1 afg g vasfs o 0.96 ¥ @
gitey =1 fEw wfaly 192 0 & @ 3 vedw =
wa@mmﬁaa&um'@ﬁ

1 4,369
(@ 4,384
() 369,384
@ 4,4

i s
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131. A piece of ice falls from a height h so that it melts | 131, 9% 1 I THS 596 h A 30 VR ma & 5 9
completely. Only one - quarter of the heat produced oi: fooe s 81 39 29 At I Fad
is absorbed by the ice and all energy of ice gets
converted into heat during its fall. The value of his: TN W & T g s e e
[Latent heat of ice is 3.4 x 105 /kg and g = 10N/Kg] o I T e 59 T g9 e st 6
(1)  68km St ® 1 AfE aF F TE 3.4 %105 [/ kg qm
@ 34 km g=10N/kg%,?ﬁiTﬂ§h?ﬁrWH%:
@) S544km (;) 63 ﬁ;‘:;
@ 136km EZ’; :::4 P

132.  Asquare loop ABCD carrying a current i, is placed 4 136 fwAL
near and coplanar with a long straight conductor 192, 9 T (S9) ABCD — a

! iR fSed ¥ i wenfea

%

133.

XY carrying a current [, the net force on the loop will
be:

IL

A

Bolil. y

1 2

2ppli -
3w }‘

poli '7;

2w

24 liL
3w

@

@)

A uniform rope of length L and mass m, hangs
vertically from a rigid support. A block of mass m,,
is attached to the free end of the rope. A transverse
pulse of wavelength \; is produced at the lower end
of the rope. The wavelength of the pulse when it
reaches the top of the rope is A,. The ratio A,/ A, is:

m] + m2
m

()

Mot

o=

133.

g, ot am ) wew xy ool am 1 v
AEEF e wd i@ I wean
EIIFH%ZW%’I"’H:

Y B C
I (i }
.
L/2 L
2 2—:1%9
() “ZL:

Wm]ﬂmeaﬁﬂﬁgwmm
3% 2% 4 TR el ¥ 79 T ¥ e A
FHA m,, 1 FHE TH S T T F g A w
TR A F B I T 3 R E
afe & F oid oF e Wt wR & ans
A T SRR 1 TR ST N/ N, FIAAE

m; + m
1) Im1 2
my
@ \m,
m; + my
@) o
my

@)
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134. A black body is at a temperature of 5760 K. The | 134, &% Hfoma 5760 K a9 W 2| 39 fave gr s&fsa
energy of radiation emitted by the body at il T T
wavelength 250 nm is U, at wavelength 500 nm is = s, . 230 nm R Uy,
U, and that at 1000 nm is U;. Wien's constant, 500 nm 9T U, a1 et 1000 nm R U, 1
b=2.88x10° nmK. Which of the following is H-frrdia, b=288x 100 nmK &1 9 femn w0
Gt T Ay W R e
1 U>y % (1) Up> Uy g - Be Np FNe
/ # Hr
@ U= 2V @ u-olm " , mee
b (a7 b o (o Nl G —— Ko
@ Uy=0 @) Us=0py, o § 35 pip Mo Te Ru kbt 1—— %,
oL E—
@ U>U @ U ey T BERE

135. Out of the following options which one can be used |
to produce a prgpagating e]tﬁ&%ﬂ&uﬂgg ?
- ————— ————

(2)  Acharge moving at constant velocity

(3)  Astationary charge pd

(4)  Achargeless particle

— e

’

associated with adsorption ?

hich one of the following characteristics is

(1)  AG and AS are negative but AH is positive
@ AG is negative but AH and AS are positiye
Jon

1 and AS all are negative

G and AH are negative bu%S is positive

137. The pressure of I, required to make the potential of
H, - electrode zerg. 7&&:&31:31' at298 Kiis::
1) 101 atm )

Mﬂ’ 4 atm

3) 107 'Zatm

4 10 19 amm

138. The addition of a catalyst during a chemical reaction

alters which of the Tollowing quantities 7

Activabion energy —
(2)  Entropy &

(3)  Internal energy™

(4)  Enthalpy A

i feu o famedi § @ fRue swEm ww HafE

—  faem gEwE T 30w w0 F fE . gewm 2

(1)  Fr EfE s

@  foEm A e = s
@) fersmEm

(4)  STEAvER HU

136, fafafma @eml § 9 FF o afuvimn 3 gEfg

(1) AG 39T AS FOTHT A AH SHIHF ear 8 |
) AG FHUIHE A AH T AS A €I € |
() AG, AH U AS Bt O € €|

(4 G UF AH TS SAfeh AS SFH e & |
MH&@@ AU — @
137. 298K W Y& 9 H H, - ToiaIe & fava y= &1

% ford amava® H,Ta ¥

(1) 10~*atm

@ 10~ atm

(3) 10712 atm

4 10719 atm

138. ot vomfas sifufsan o 38 & 49m 3 f=fafaa

H | FF H A agerd @ ?
(1) HiwEgm S

@ T

(@)  3TafE e

@ Taeh

oo
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139, For the following reactions
; (@)  CH,CH,CH,Br+KOH —
CH,CH = CH, + KBr+ H,0 04
Hy C\ CH; HyC_ CH,4
(b) ]/ + KOH — + KBr
Br

(© r\)+Bra—*O\/

Which of the fo[lawmg statements is corr_j 3

(1) (a) is substitution, (b) and (¢) are addition
reactions. -

)
dition reaction.
3 (a) is elimination, (b) is substitution and (c)is

addition reaction.

(4)  (a)iselimination, (b) and (c) are subshtut‘i“ir'
reactions.

(a) and (b) are elimination reactions and (0)is

140.  The product formed by the reaction of an aldehyde

with a primary amine is :

(1)  Aromaticacid

@ iff base (‘M&CHD* OH?)NLI
L

The correct statement regarding the basicity of

rzla es is ;

(1) Arylamines are generally more basic than
a&zlammes, because the nitrogen atom in

aryli mines is sp-hybridized.

(2) Arylamlnes are generally less basic than
alkylamines because the nitrogen lone-pair
electrons are delocalized by interaction with
the aromatic ring 7 electron system.

tone
(4)  Carboxylic acid

(3)  Arylamines are generally more basic than
alkylamines because the nitrogen lone-pair
electrons are not delocalized by interaction
with the aromatic ring 7 electron system.

(4)  Asylamines are generally more basic than

alkylamines because of aryl group.

142, Equal moles of hydrogen and oxygen gases are
placed in a container with a pin-hole through which

boffuanescage; What fraction of the oxygen escapes

in the ime required for one-half of the hydrogen to
escafie
M U L X =

6, —g 5
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139. 7= sifufsransti & fod

140.

141.

142.

(@ CH,CH,CH,Br+ KOH —
CHLCH = CH, + KBr + HLO
H4(C CH,4 H C.
(b} 4 KOH — T
Br OH
AN ~ T ~Br
© | || + Bry— | 1
=T " Br
AR m w0
(1) (a) =T, (b) 37 () Arms sifufeand #)
() (a) 3R (b) faeires sifafeand € o (o) 9rm

‘( H+
+ KBi

sifufaan 31

(3) (o) faeie sifufsn, (o) v afifem s
(c) Tt srfufman

1) (a) faerm wfufEm, (b) 3 (o) vfrrars
Ay )

tfesrre vd wufs Od F1 wfufEra | @ 3=m

%

(1) Tt s

(2 BrEam

3) fwm

(@) FEfaaes 3

THETUHA & awesdl & for) w@ @ &

(1) e weE: et § A s

& i WAt § Ao o] spwE

g1

e wmra: tfewand § #9 ane

wifed aE F w - FeEeE Wy fawenfie

T El

@)  THETER geE: tfeaedis 3 s A
&l & FITF e F TS - T o
THHfeF 5o ¥« - serEer ¥ e farei
& T

) uR® Wz F Fnv tHendE 9w

EIFEISH UF i T ¥ gum et F e i
w3 T R, 5 uF e fer F g vemE w
F1 S F o g § an myn o sitaion
e =391 wemgm = om 2

2

(1) 1/2
(2) 1/8
B) 1/4
@ 3/8
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143 The correct statement regarding the comparison of
% sta__gered and ecli

of ethane, is

(1) Thestaggered conformation of ethane is more
stable than eclipsed conformation, because
staggered conformation has no torsional
strain.

(2) The staggered conformation of ethane is less
stable than eclipsed conformation, because
staggered conformation has torsional strain.

(3)  Theéclipsed conformation of ethane is more
stable than staggered conformation, because
eclipsed conformation has no torsional strain.

(4)  Theeclipsed conformation of ethane is more
stable than staggered conformation even

though the eclipsed conformation has

torsional strain.

ich of the following oghons the order of

arrangement does n ith the wvariation of
pmwmﬁﬁﬂ—

() i <K < Rb (increasing metallic radluL)/
M Mg2* <Na* <F~ (increasing ionic
size)

(3 B<Cc< I\(‘QO (zncreasmg first ionisation
enthalpy) —~—"

(4) 1< Br < Cl <F (increasing electron gain
enthalpy)

N

145. The rate of a first-order reaction is 0.04 mol [~ 151
at 10 seconds and 0.03 mol -1 s~ at 20 seconds
after initiation of the reaction. The half-life period

of the on is
541s

(2) 241s
(3) 341s
44.1s

en copper is heated with conc. HNO;, it
od '

Cu(NO3)2 and N,O

2)  Cu(NO,),and NO,

(3  Cu(NOs),and NO

(@) Cu(NOy), NOand NO, R

147.  Inaprotein molecule various amino acids are linked
= together by : -

(1)  dative bond

(2)  a-glycosidic bond

(3) _ B-glycosidic bond
\/(4),‘ peptide bond
148.  Fogis a colloidal s

(1) .Gasin gas

Liquid in gas
(3)  Gasin liquid

143. U % Fiahd Ud TE GEQ 1 qer ¥ o wh

T E
(1) TIF = Hiata gEuw, T gEm 5 afas
T ® it wiafa wew § 5@ fagd

& &
(2) T Al GE, T HET ¥ 5 et
& i Wiafa Seq § wird fagd 21
(3) U F UE HEW, Sl gEqw g e
T § i e FEew § aid g @
il
(4) U W T HEw, gEkE gEen 9 afas
Tt € vafe e deam | wird fagd 2
144, Trefeorfes 4 @ 17 o w0 fed v o 3 oftad
% ITTEN Hewd TE B 7

i (1)  Li<Na<K<Rb (F=a & =feas fawm)

(2) APt <Mg2t <Na* <F
R

(3) B<C<N<O (T g7 994 a7 =iwd)

(4) I<Br<Cl<F (=gl g8 soiag ofed wiedt)

145, TS W9H Hife =t sfufira =1 an sifufea gros 5

(9% g4 wafa

F 10 sec M€ 0.04 mol [-1 s~ ! Y 20 sec HE.

0.03mol I=1s~1 &1 78 sifufdn = o zirg e

®:
(1) 541s
@ 241s f(iil/"j_l,_ ¥

@)  341s
[#), 1s T K
146. W HNO, F 919 T 333 W 77 &

(1)  Cu(NOs), 3 N,0

@  Cu(NOy),3RNO, (.S L

(3) Cu(NO,),3RNO

4  Cu(NO,), NORNO, -
147. S 370 fafus T s ww g A qE A E

(1) T HEY F R

(2 «-EEFIEEF JEY F5E

3) B-TOEFRIElsE =Y F g

(4) Terds smEy % g
148, gy Fed famm & (g

1 TmEdmew
(9) e ECED
=Y

(1) Solid in gas

G ‘LU D, 2 QUG\J

ﬁnna‘mm

'-0—-'—
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149.

Column [ Column 11
(a) [Cyanide process i) |Ultrapure Ge
(b) |Froth floatation ZEQ,Dressing of ZnS
process
(c) |Electrolytic reductionfi(iii) | Extraction of Al
(d)|Zone refining J/ Extraction of Au
(v) [Purification of Ni
Code:
@ @ () (@@
1 g ) ) a6 w
T iy o~
G @ G O
@ O G) @) @)
150. Which onegiven below is a non-reducing sugar ?
\/ﬂf/sze -
(2) Maltose -
(3) Lactose -
4)  Glucose ~

151.

‘Aeo ose.
~—
e sugar component in RNA is ribose and
the sugar component in DNA is

152.

AIPMT 2016
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Match items of Column I with the items of
Column Il and assign the correct code :

The gorrect statement regarding RNA and DNA,
respectively is:
(1) The sugar component in RNA is

2'-degxyribose and the sugar component in

DNA is arabinose,

The sugar component in RNA is a:a.hi_r_\gsu?q
and the sugar component in DNA is

&)

_2-deoxyribose \_—
The sugar component.in RNA is arabinose
and the sugar component in DNA is rib%

)

The correct thermodynamic conditions for the
spontaneous reaction at all temperatures is :

(1) AH<0and AS<0
(2) AH<0and AS=0
() . AL>Dand AS<0

H<0and AS>0

qq

o

DH- Tﬁm@

149.

150.

151.

b 152,

English+Hin

W | F Seoi@ & T 11 F SeoE 9 faend

wWYl =\l
(a) |wig=s W 0 | sy Ge
®) [ e fafy () |Zns w1 s
©) |fazm stomet staeae [ (i) Al #1 Frepdo
(d) |gzer frsrm (V)| Au %1 Foyeaefon
(v) |Ni =1 9=
wIT:
@ ® «© @
M ) @) ) )
@) (v (@) @) @)
@ @ @ @ (W
@ O @ @) (v)
=1 9 | FE U - AraEE g g ?
(1 —FEE
@ weE
@) =
@) | TR

RNA Ud DNA % ford 9é Fo7 %o &
(1)  RNA ¥ v 52& 2 feafiadigam 3it DN/

o v v e )

(2) RNA H v m2& afifas & 3R DNA 1
YT e 2 -festiadEEE

(3) RNA ¥ W1 2% 7249 € 31 DNA ¥ 913
w2 2 -feartwigas ®1

RNA T v 5o 3o # 3k DNA T
T T TR B

)

T4t Al W AfufEa & w=a:yafdd & fod 98
FEMAHE 7 &

(1) AH<0@HMAS<0 AH__a_V
(2) AH<(0THAS=0 BHAC

5 AS
—

AH>0d91AS <0
AH<0dIAS>0

CODE



AIPMT 2016

embibe

153.  Which is the correct statement for the given acids ?

(1) Phosphinic acid is a diprotic acid while
phasphenic acid is a monoprotic acid.

2 osphinic acid is a monoprotic acid while
phosphonic acid is a diprotic acid.

(3)  Both are diprotic acids.

(4)  Bothare triprotic acids.

154. MY and NY;, two nearly insoluble salts, have the
same K, values of 6.2 x 10~ 13 at room temperature.
Which statement would be true in regard to MY and
NY,?

(1)  The addition of the salt of KY to solution of
MY and NY; will have no effect on their
solubilities.
(2)  The molar solubilities of MY and NYj; in
ater are identical. Y
M he molar solubility of MY in water is less
: than that of NY;,

(4)  The salts MY and NY, are more soluble in
0.5M KY than in pure water.

155. Which of the following is an analgesig ?

1 hloromycetin )\

Novalgin -
3)  Penicillin /<y
o« Streptomycin)q

SG‘ﬁ The pair of electron in the given carbanion,

CH,C=C is prese

orbitals ? LY

W spy,
@ 27T,
3 sp?

@) sp?

157. /Among the following, the corkect order of acidity
is .

(1)  HCIO, < HCK 12‘11 ICIO < HCIO,
(2)  HCIO, < HCIO, < HCIO, < HCIO
(3)  HCIO < HCIO,£ HCIO, < HCIOy
(4)  HCIO, < HCIO < HCIO, < HCIO,

158.  Which one of the following statements is corrgct
when SO, is passed through acidified K,Cr,0,
—————————

; solution -
\_ﬂe;c:z(som is formed.

(2)  Thesolution turns blue. ?c
(3)  Thesolution is decolourized.
(4)  SO,isreduced. «

33

153.

154.

155.

156.

157.

158.
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Frefafes ¥ 3 5m o1 wu= fed 7 sl & ol
2?2
(1) wITeRfE 3 fEuet st & wafs wentes
A THIRT oA B
(2)  RITERITE 3T THHIZ 375 & STafh HERTE
o Tt e 1
@) = e e #
@) o e e

MY W& NY, &1 S et Aavii o1 %Al % arg 7w
K, ®AH, 62x 10~ BuFamA §1 frad d k@

FIT MY & NY, F Haf H w87
(1)  KYTETH MY U NY, ¥ faeraq & sem w
7! foeraa W HIE e 7@ g=al #

(2) MY T NY, &l 9 § Hrer facmm 569m &)
() MY 5§ Hier faermm NY, 8 F0 E)
(@) MY TE NY, & @0 g 9 F1 ga o

0.5 M KY H =t fasg 1
et & & 9 o 7o o R 22 )
(1) FERmEE R ﬂ
@ e i
(3) ufafafas A
@) wemEfEE
et T -, CHLC = C 5 7w woveg Foey
H ¥ o e o sufeem 32
(1 sp
@2 2p %
@B sp? 1/‘ U
@ sp?
feadgromeiad Fa 8.

(1)  HCIO, < HCIO, < HCIO < HCIO,
(2)  HCIO, < HCIO, < HCIO, < HCIO
(3)  HCIO <HCIO, < HCIO, < HCIO,
(4)  HCIO, < HCIO < HCIO, < HCIO,

Frefafes § & =17 @ %9 9 & 94 50, # s
K,Cr,0, % faema 8 § um foran stman @2

(1) & Cry(SO,), T 7 1

(2) foomm Fen v @@ )

(3) faegd dE @ wm )

(@) SO, safyd graT &1

e |
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159. Predict the correct order among the following :
1

lone pair - bond pair > bond pair - bond pair

> lone pair - lone pair

(2 one pair - lone pair > lone pair - bond pair >
bomirioﬁ_;;ir

(3)  lone pair - lone pair > bond pair - bond pair >
lone pair - bond pair

(4)  bond pair - bond pair > lone pair - bond pair

> lone pair - lone pair

160. Two electrons occupving the same orbital are
distingi by :

Spin quantum number ‘ 1
2 /\ _7_?5 Oi

3
)

Principal quantum number
Magnelfc quantum number
Azimuthal quantum nuriber

161. The product obtained as a resul ction of

nitrogen wi ;K%
Lt men (G N

@  CaieN), L
() CaCN Cﬁ “CINJ
@) CcacN, LT L
162. Natugal rubber has :
\Mandom cis - and trans-configuration
" @  Allcis-configuration
(3)  Alltrans-configuration
(4)  Alternate cis - and trans-configuration

163. Which one of the following orders is correct for the

bond dissociation enth. f halogen molecules ?

(1)  F,>ClL>Br,>1,

(2) L>Br,>ClL>F,
2>Bry>Fy> 1,

#  Br,>L,>F,>Cl,

e

164. The reaction

O"”—Nﬁ‘

can be classified as :

A

Me
D Ma—
OeNa _EI_,O_O/

Question Paper - 1st May
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(1) Wijlliamson alcohol synthesis reaction X
Williamson ether synthesis reacﬁow

(3)  Alcohol formation reaction K

(4)  Dehydration reaction

English +Hindi

159. A9 9 wét wwam .

(1)  THE G - S g > s g - e
T > kT qH - UHEH gH

(@) TEE H-TEE W > THEH JH- s
T > A& g - st

(3) U T - UFHTH T > A T - e

I > T T - A T
S G - ST 7 > T g - syt
' > THH] TTH - THH g

160. T SO S 1o U @ s H ¥ o o e

i w=m ey A F ol —f

@

(1) W=shY F=e8 T
(2) T=F FEieq qgEA
(3) HEF F\ey g
(4) feveia w=ien de

161, ARZSH I CaC, F W aifufsman 4 Wi Seqre 3 -
(1) CalN
@) CaCN),
(3 CaCN
(4) CaCN,

162. WHfas @ .
(1) s fog-ud zig-faam &
@ v fag-faam
(3) = Tr-faamg #
@) uHr fog-ug gig-famm 3

163. frefafias & 2 wm ¥eiom stvjsii 1 s farder
T & o mE R
(1)  F,;>Cl>Bry>1,
(2 L>Bry>Cl,>F,
@) ClL>Br,>F,>1, é %/
@) Bry>L,>F,>Cl, ;

164. =fufman

Q-OH NaH Qoe NE? Me -1 géle

w1 i foman o g #
(1)  fafemas veree dverm afufsa
() fafarmm dor gvemo sifafe
() UewEd far=m sifufean
(4  TAstefio sifufiear
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ithium has_a bce structure. Its density is
) 530 kg m 7 and its atomic mass is 6.94 g mol~ 1,

Calculate the edge length of a unit cell of

Question Paper - 1st May

165.

CODE

fefuam %1 bec H=T1 81 38 974 530 kg m ?
YT TE] ZSAHM 6.94 g mol ~1 B 1 fafumw um F

Lithiumetal. (NA-602><1073mo! 1) T FIfCIF F F AT By (o
» (N,=6.02x103 mol“l)
Spe - Sab ;C‘IE M 264pm
@ 154pm WY @ 154pm V ’“ [ X 2R 6
@ 352pm & = Pl (1 @ 32pm 'y G g TV (1 Wl e o ik
(4) 527 pm L (4) 527 pm % Sp;
. a.@ ﬁ F o
1 .)’he ionic radii of A* and B~ ions are e 70 @ : i %‘W
0.98xT0=T m and 181 x T m—The 098x10- 10 mTH 181100 m | ABH yeirw
coordination number of each ion in ABis : FI ITHEHAS HEAT € o
Ee g )
m 2 / =y 32
= @2 6
@ 6 40 A oD
@ 4
B 4 d SRLA%S ~ @ 3
VQ,( )
(1) 8 (g (O ¢
) S = IS T 167. WﬁSgﬁﬁ"JﬂIODg wet H foeram #1 100°C
167. At100°C the vapour bressureofa solution of 6.5 g of a1 A 732 mm ¥ 1A Ky=035 ki
a solute in 100 g water is 732 mm. IfK},=0.52, the FEFIF BT ¢
boiling point of this soh:honwnllbe 1) 103°C u@w ‘
m 1 LoD a. \ha, @ 101°C E
101°C 3 ' .
@ 100°C lﬁb % @ 1&? - & ! \ \ } L,h
@ 1w02C Qj}}\/‘%ﬁ 168. Eu (TH.63), Gd (9. 64) 3iR Tb (4.9. 65) ¥
AM Jﬁ RIS T
The electronic nﬂﬁ_gga_gqns_nf_ﬁu_(Ato 63),
Gd (Ator{ucc l\'Iol 64) apd Tb (Atomic NO. 65) are:  {y ()  [Xeldf76s? [Xe]4f75d"6s2 3T [Xe]df%6s?

(1) [Xeldf7os%, [Xeldf 75d16s% and [Xe]4f %6s2
M]rlf 765%:‘ 8 652 and [Xe]4/B5d16s2
(3)  [XeJafF5d 1652,(]Xe]4f75d1652 and [Xe]4f%6s2
(4)  [XeJdf%d'es?, [Xe]df75d16s2 and
[Xe]4f 85d 652 >d

169. Which of the following statements about hydrogen
is incorrect ?
——— e

(1)  Dihydrogen does notact as a reducing ageim

2 ydrogen has three isotopes of which tritium
is the most common. S
————— Q
(3)  Hydrogen never acts as cation in ionic salts.

(4) Hydronium ion, HyO* exists freely in
solution.

169.

()  [XeJ4f76s? [Xe]df® 652 3T [Xe]4f85d16s2
(3)  [XeJ4fo5d16s2, [Xe]df75d16s2 3T [Xe]df %6s2
(4)  [Xel4f95d16s2, [Xe]df 75d16s2 3

[Xe]4f 85d16s2

frafafa § 4 =5 & wv7 eegee F 59 ame

2?

(1) TEEEIH YEEF % 95 14 T8l #a 2

(2 IS ¥ oA guet € e | gt
T E B

() TRLISH A eEvl § YAIEH 1 TWE wEn
T A E

@) EEEfE e, H,0* F1 sfas faema §
T w9 H EEE
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In the reaction 170. wfafEmar g
—c=cy W NaNH/ligNH, | (1) NaNH/lig NH; _ - gy UNaNH/ligNH; (1) NaNH,/lig.NH
AmC=CH oG H; CH, Br *\2) CH, CH, Br % i T, (2) CH; cn-ziz B
Xand Y are: g X =
, X#ny €:
(1) -Butyne Y = 2-Hexyne ¢ .
2 X =1-Buty Y =3-Hexyne® (1) X=1992E7; Y =285
3)  X=2-Butyne;Y= 3-Hexyne (2)  X=1-REA; Y =33
) X 2—Butyne ; Y= 2—Hexyne (3) X= Z'W; Y= 3__%3“13:'-
171. nsidf_r th:; fo[lov‘t/'i.ng !tquid -vapour equilibrium, @)  X=2-3TE, Y = 2. 39
1quid == Vapour N
Which of the following relations is correct ? 171. 9 f@ 7 79 - O RUSIEL 8
dnP  AH, T = am
O T dAFFwmFT A E?
dinG _ AH, dlnP _ AH,
@ a7 T Rp? @ T TR
dlnP =NH, dinG _ AH,
® T T TR @ 41T T R
dinP _ —AH, . dlnP _ —AH,
@ a2 T T
172. Which of the following statements about the dinP _ —AH,
omposition of the vapour over anideal T: Tmolar ) aT? T2
——" mixture of benzene and toluene is correct 7 Assume R .
that the temperature is constant at 25°C. (Given, | 172. &= g AT F 11w wWew fago ¥ A
Vapour Pressure Data at 25°C, benzene = lgﬁfgi A F o frefataa § 9 21 @ HYT U B
toluene=3.85kPa) o FET F o a9 250 W fer #1 (R m A
(1)  Notenough information is given to make a . " o
prediction. M 25°C W F{H = 12.8 kPa, e[ = 3.85 kPa)
(2)  Thgvapour will contain a higher percentage (1) ST e % e A yatE T e
3),/ The vapous willconésina highes perceria ; T i%ﬂ' e
(3 > t«; ;:e]:-lc:.xr willcontain a higher percentage @ A deE e
(4)  The vapour will contain equal amounts of () 9™ F e ) safi a2
benzeneand toluene.  Q @) A TR e f At v Bl
7 :Ztl::fehv Of the following biphenyls is optically | .. ¢ AR F W A gt afEa 7
T cHy CH,
7\
(1) ! 4 L
CHy
O,N
\/ /\ \/@
I
Br Br
7\

C)

I I

1
e
7\
o OO

I
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174.  Which of the following reagents would distinguish
cis-cyclopenta-1, 2-diol from the trans-isomer ?

L ——

m

Aluminium isopropoxide

e

(2) Acetone -
\)})/Ozone X
AnA - O
A - L. 1

175. The correct statement regarding a carbonyl

compound with a hydrogen atom on its alpha-

acarbonyl compound with a hydrogen atom
on its alpha-carbon rapidly equilibrates with
its corresponding enol and this process is
known as keto-enol tautomerism.

a carbonyl comi;ound with a hydrogen atom
on its alpha-carbon never equilibrates with

its qgggspgndmg enol.

a carbonyl compound with a hydrogen atom
on its alpha-carbon rapidly equilibrates with
| its corresponding enol and this process is
known as aldehyde-ketone equilibration.

B

@

3)

)

a carbonyl compound with a hydrogen atom
on its alpha-carbon rapidly equilibrates with
its corresponding enol and this process is
known as carbonylation.

176.

——

e H—C—H bond angle in CH, is larger
ﬂmnmmgﬁgegnws. ,)J

—_—m T 5

@

The H-C-H bond angle in CHy, the
H-N-H bond angle in NH;, and the

H-0O-Hbond an H,0 are all greater
than 90°.

The H—O-H bond angle in H,O is larger
than the H— C—H bond angle in\%}

The H- 0O~ H bond angle in H,O is smalle
than the H—N— H bond angle in NH,.*\'

3)

(4) r/

-.r.,
s

4

17¢. f9=1 9 & =17 W afusds fog-aewm=,
2T Ud THF TH-guEast | 9g 5 ?

(1) UegfaftEm sAEEmEEEe
2
(@ THEE -
@ @A
) |
= " Mno, —

175. HHEHEA A0 590 o -FET W g Iu9fem 2,
FiAa@ s e

i A7 F o TR e
M B, 9% 396 ATRY A | smaet |

Wﬁwﬁﬁ%%aﬁtug?fﬁm@
<

M

TAEIEA Feedl 5 |

e Hfw ~ e T BTESIST T

Jufter €, 9% HIEY A | Fft off

e g1

e F1fih foH o~ e T e W]

39fed 2, 78 7 SigE Ha § amE 9

T e ¥ 3R 7 why tfeeens -

IS AL HeEeld €|

( FHrEiTer AT 7 o-HrE
Jufeerd &, 72 T ATE A
wrepEen ¥ 2§ o 7w v

N Oy

CH,, NH, 3 H50 smjeii # ford = ff3 w2 o
HHFA W 82

CH, ® H-C-H M-M NH, #
H-N-H 3E9-F10§ 1l )

—

O

2

(3)

vy 0

76.
)

@

H\
l @)
G

Q )

A

QJ

CH, ¥ H-C-H ¥@E9-%M, NH, ¥
H-N-H d@9-#maa HLOFH-0-H
s, A Hoord afuw |

H,0 # H-O-H ¥@E9-Fm, CH, ¥
H-C—H sEg-#m 3 sfis

O # H-O-H #&E9-%FM, NH, §

H—N—H sT&Y-FH17 8 F5 7|

ﬁﬁ.gﬁ _.
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178. Consider the nitration of benzene using mlerd cone.
H,50, and HNO;. If a large amount of
added to the mixture, the rate of nitration will be :

1)
@

Wmhanged

179.  Which of the following statements i

O]

@)

3)
v/m/

180. Which of the following has langest C —Q bo
length ? (Free C — Q bond lengtfitn CO s 1128 2

(1)
@
)

)

Column Column IT

XeF, - :-.n#i) distorted octahedral

XeO, i)  square planar

XeOF, #™~'(iii) pyramidal

XeF, \Q/) square pyramidal

5 U

@ ® @ @ . A,

T (i) Sl
(i (V) _ (u)\/ o

@ (i) (i") (i)

) GG~ (u)‘/ ‘%’
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177. ) Match the compounds given in column Lwith the
hybridisation and shape given in column II and
mark the correct option.

4!5

doubled
faster

slower

Mg?* ions are i en parts
of plants
Mg?* ions form a complex with ATP. \

Ca?* ions are important in blood clal'ting\/

Ca?* jons are not important in maintaining

the regular beating of the hearl(%

[Mn(CO), ] *
i(CO),

[Co(CO),® O

[Fe(CO),J? (F ([ y P
o R F

id

|/

(
cC

English+Hindi

Nz7. w1 fed A AT w3 S vE dEn S
for Ty 1 9 23 13 2 =1 foomd aun = faweg =

Fafga wifom
e ES AT
()  XeF, (i) ToFd sewawn
(b) XeO, (i) = HoaE
©  XeOF, (iiiy  frofaEt
(d)  XeF, (iv) aﬁi’ firef)
wE NI ~F
@ ® © @ N@ o
m ™ 6 6@ G ) \,\ f
@ O @ v @@ 2
@ G () (v (i)
@ (v (@) @) ()

178, A=Sf14 1 AR 1z H,S0, T HNO, &l 3ureia
A @ @ ¥ afe gw fagw d s we § KHSO,
T ¥ & AT A w
(1 g &

@ ?ﬁ \{
3) =
@) mﬁaﬁa@/y >L\
179. Tr=fafma d @ sm @ s g7
(1) Mg+ ¥R U % 2| wri & ford st
r 7
() Mg2+ FEE QAT F Wy HFat a9 £
(3) Ca’* 3T9F 190 1 9 & o GeEy 81
(@) Ca?* 3 gea e %1 Frafra vas o meeyel
Bridl

180. Tr=fafaEs § @ frgat ¢ — O sy = sfusay
2?7 (IR C-Ow@Ey e COF 1128 A 1)
(1) [Mn(CO) 7
@  NiCO), 1 /

@) [Co(CO),® d M/V\ g
N
L/L}’G“ - \
)

— Mg — b
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Read carefully the following instructions : freferfiaa (39T sar7 @ ug :
1. Each candidate must show on demand his/her | 1 48 WA W yeas saandf, fias #1 e
Admit Card to the Invigilator. TS
2. Nocandidate, without special permission of the
Superintendent or Invigilator, would leave his/ | 2. apsfterr 71 friters #1 favm srqmfa & fa@ =i
her seat. iteTedt ST T A 9 |
3. The candidates should not leave the _
Examination Hall without handing over their | 3. &/ friia® F1 st 3w w1 feu fan va
Answer Sheet to the Invigilator on duty and |  gufeafa-—gse R gaw ex@er fu fom =g giani
sign the:- Attendance Shget twice. Cases where e el 7 2N | Af Fet el 3 gm0 A
a candidate has not signed the Attendance
Sheet second time will be deemed not to have |  SUfeId-Te W geR el fhy A 7 o <@
handed over the Answer Sheet and dealt with | & 399 39 7= & =itern ® 30K 3 sfea oA
as an unfair means case. =1 e A ST |
4, Use of Electronic/Manual Calculator is .
prohibited. 4. oA/ TaEIed e &1 39AnT afsld ¥
5. The candidates are governed by all Rules and 5 ;ST TR (R
Regulations of the Board with regard to their 5. 90 B"f&?ﬁ it Ehg‘;; Q?:l
> conduct in the Examination Hall. All cases of Tt gra frafia &1 srgfea T & |t At
unfair means will be dealt with as per Rules =1 e =1 F forgei wa fafaei & arqan @
and Regulations of the Board.
/ « )
6. No part of the Test Booklet and Answer Sheet 6. forelt EIE[EI.ﬁ e g SR I Eﬁﬁsllmz
shall be detached under any circumstances. ST A Eadl oY
¢ = ,gg
7. The candidates will write the Correct Test ‘!ﬂiﬂﬂ'éﬂ : qﬂmgﬁﬁ"ﬁ/ -
Booklet Code as given in the Test Booklet/ [ R IR ] N
Answer Sheet in the Attendance Sheet. = T e | guferfs-ww # for 1
= 1 -

(- =
YN

)

."/
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/@« 9 & M e
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